/L\C/ : CP-VI/DSE-4(6+4.1/6.4.2)/(N&0)/24
/ B.Com. 6th Semester (General) Examination, 2024 (CBCS)

Subject : Commerce
2 3 7 Course : DSE-4 (6.4.1 CG)
e Lo (International Business)

(New Syllabus)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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AT TS [rerT T T fire 207/

1. Answer any fen questions: 2%x10=20
I I ST e e 8

(a) Define ‘International Business’.

‘e A AT WS |

(b) Define trade surplus.
e Tyres @ s |

(c) What do you mean by comparative advantage?
TR A4 TS (AT 2

(d) What is open economy?

& LS F 2

(e) What are the main components of balance of payments?
T ©gE-1 el Sl $ e

(f) What is quota?
oI 2

(g) Distinguish between fixed and flexible exchange rates.

5 @3R3 R 2t wwa < e s |

(h) Write the full forms of OPEC and SEZ.
OPEC 3% SEZ-43 7|¢({% st (=102 |

(i) State two important objectives of IMF.
IMF-7 7 @29l Sraly R <03 |

(j) Mention any two driving forces of globalization of business.

AR Rl (@-cpicat uf wifeemifes Sua st |

(k) Define acquisition.
SREIRCER TR 7S |
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(1) What is FDI?
FDIS? ,
(m) What do you mean by regional economic integration?
el AR eI FECS I QAT 2
(n) What is the purpose of export promotion?
AR AT STy 2
(0) What are the risks associated with outward investments by Indian companies?

SRS il iRR R 7o i e A e

2. Answer any four questions:
-GN 51 2ica Baa e ¢

(a) Explain the theory of absolute advantage of world trade.
Raifirens cea o= 4 et Ut |
(b) Analyze the significance of the United Nations Conference on Trade and Development
(UNCTAD) in shaping global trade policies.
fraiftey A @R UNCTAD-F Sieeid Rusise I6 |
(c) Briefly discuss the role of IT in international business.
SIS AT IT-7 Gt ST SO P |
(d) Differentiate between international business and domestic business.
SIS EF R (T TR T ~ATLT I |
(e) Ecological consideration is a critical issue in international business — d.lSCUSS briefly.

ﬂﬁmwﬁmmwmwmwﬁewﬁm — FRCHCA ST FRI |

(f) State and prove Heckscher-Ohlin theorem by price definition.
RINTAIS AR ALY (ZI- 6o Totetr RS =) &=t |

3. Answer any two questions: - - 10x2=29
- 75 28T TS 3
(a) State the salient features of India’s post-liberalisation trade policy.
SIRTSR BAIiwRel- 1) A Mfow (ARl S F0 |
(b) Explain the principles and functions of WTO. State the differences between WTO ang
GATT. 6+4
WTO-7 S  Frfafer et at | WTO &R GATT-3 N0 <M1y et |

(c) What are the main objectives of imposing trade barriers? Explain the various barriers in
world trade. 545

MXET-1 WA o1 Brapepar § o Ry Afcesa Rivw qetefer ot w0t
(d) What are Special Economic Zones (SEZ)? How do SEZ differ from Export Oriented Units
(EOU)? Discuss the primary objectives of SEZ. 24246

:gtglmﬁ @I ? EOU-3 AT SEZ-7 ~idmef & e SEZ-3 2T Srmwf siteisay

5%4=20
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B.Com. 6th Selnester (General) Examination, 2024 (CBCS)
Subject : Commerce
- Course : DSE-4 (6.4.1 CG)

(International Business)
(O1d Syllabus) ‘
Time: 3 Hours o Full Marks: 60
The Jigures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
w2 SFerafer el i AT ;
R L P S G A,
1. Answer any ten questions: 2x%10=20
- ™G arng W’W]‘Q g

(a) What iS? the difference between. mergers and acquisitions as modes of entry into foreign
markets?

RO SIS 20 "‘ﬁﬂmﬁwmﬁwqurwwwa?
(b) What is glocalization?
CHIATRTET e

(c) What is Voluntary Export Reggraing (VER)?
CTRIA AR G (VER) 19

(d) What is Metzler’s Paradox?
e St e

(¢) What is UNCTAD?
UNCTAD 3¢

(f) What is the primary PUrpose of establishing Special Economic Zones (SEZs) in a country?
CRICH (! RO S feifoes wreser (SEz) et el Brmy 17

(z) What is turn-key project?
B3 aem e '

(h) What is the concept of absolyte cost advantage in the theory of international trade as given by
Adam Smith?

sprer e mmwmmmmmmaﬁmmﬂ%?
(i) What is a regional trading block?
el Ay T He

(j) What do you mean by devaluation of home currency?

PR A SR I970S B g2
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(k) Mention any two challenges that SEZs in India face. : :
SRS R0 St wemeafR (8w TP ST R 2 O (F- I 715 Srat gy

() Whatis IMF's Structural Adjustment Loan (SAL)?
IMF-4 OIS e it A2 .

(m) What is Kyoto Protocol?
Kyoto Protocol ¢

(n) What is the infant industry argument for tariff protection in international business?

ISP I % TTRCI 0% e Fvsw B e

(0) What is the relationship between a country’s current account deficit and international capital
flows?

CRITAT (TR 5711 QTSR ABFS <R Wifoss vy 2T qeag =1 Fi 2

2. Answer any four questions: o 5%4=20/ "
(F-CPI! B3I efres Tea WG 3

(a) What is globalization? Provide a brief explanaﬁon, accompanied by examples, to. illustrate
the concepts of globalization of market and globalization of production. o o . .
Rt 2 AT FRery R Botivcora Rierer et oTCss BwieeRT= TIXCHT iyt et |

(b) Briefly explain how does the imposition of tariff on import by domestic government affect jts
domestic consumption and production, import volume, government revenue, and socjetal
welfare, using a partial equilibrium framework.

AN TR Ao G @ STt S AT STAACAISY AT CTNR (1ot @ Bt
o, e e, S ATy <k A LEOINE SRS I O B 1R ity
TSN 72 I TR IR 78 | .

(c) What are the benefits of outsourcing to India?

OIS OB e 8 e

(d) How does SAARC promote economic co-operation among its member countries?
(e) How does the Heckscher-
the Ricardian model?

(e ey
oo axe % Row RYI-efem wg e RIS SOt (e Breed R

Ohlin theory of international trade represent an improvement over

(f) What factors should Indian com
ventures abroad?

Rt @ Sopror
RN TG SRtz mwmvﬁﬁmﬁvsﬁamw&f

Panies consider when evaluating potential partners for joint
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3. wi tions:
Answer any two ques ons: 10x2=20

wﬁqmmwwmmw%mmwmwwﬁa
ST FCACL? ai‘m,wﬁsﬁgwﬂmﬁmwmﬁammmmmm
mﬁammmmqwmm?

(b) Briefly explain the objectives and functions of the IMF. .
IMF-3 BT7r) '@ PIARfRT Steratot e gt [

(c) Distinguish between autonomous and accommodating transactions in Balance of Payments
(BOP). When is BOP in equilibrium? B
mwwwmww—ﬁmmwmmu I T P
SISy ATF? _ ,

(d) Briefly explain the factors that govern the choice of mode of entry into international business.

W@ﬁﬁammw@aﬂmﬁmqmmﬁﬂmmm«wmwmr
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B.Com. 6th Semester (General) Examination, 2024 (CBCS)
Subject : Fundamentals of Financial Management
Course : DSE-4 (6.4.2 CG)

(New Syllabus)

Time: 3 Hours Full Marks: 6o

The figures in the margin indicate full marks. .
Candidates are required to give their answers in their own wor
as far as practicable.

A IS ol Ta A AT

1. Answer any ten of the following questions:
i PG el Bea e 8

(a) What is Financial Management?

i eI 2

(b) What are the various sources of capital?

TR RfSH Sepafi e

(c) What is trade Credit?
Trade Credit $1?

(d) What is meant by Bank overdraft?
e TSRS 0 F @I 2

(e) Mention two advantages of NPV method.
NPV i@f¥q 9fb 7t Sre 3t

(f) What is Marginal Cost of Capital?
TR 2T I I A2

(g) What is Net Working Capital?
B LA I P A

(h) What is cost of equity?
3/ FROA e

(i) What do you mean by Final Dividenq?
TOIS STSJIEN IS Y (IR 2
() What is Degree of Operating Leverages
w1t foretaTem WA 2
(k) What is Working Capital Operatin
g Cycle?
LR PR WS 58 Py A ”

2x10=20
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(7) CP- VI/DSE-4(6-4.I/6.4.2)/(N&0)724

(I) What is Capital budgeting decision?
ST SO Pl Fice e

(m) What is Debenture?
Yol FICF I ?

(n) What do you mean by Redeemable Preference Share?
SAFRCNLTIrST TNERIF CIIT TS R @iTe

(o) When will a project be accepted according to the IRR criterion?
IRR &S Sl 4 QI P 40T 2 a9y

2. Answer any four of the following questions:

(T Pz 515 2T TEI WIS ¢
(a) Mention the factors that determine the capital structure of a firm.

7B IR JoT4 PISICA ez Ramaf Sree 31

() X & Co. issued 12% redeemable preference shares of % 10 each at 5% discount and floatation
cost is T 5 per shflre. The shares are redeemable at 5% premium after 10 years. If the
corporate tax rate is 30%, compute the cost of preference share capital. Ignore dividend

distribution tax.
(ZRANE 2 78y)

(c) State the different types of dividend.
sreeeea Rfen wxaefe Srae 3

(d) Consider the following investment opportunity:

A machim? is available for purchase at a cost of Rs, 1,00,000. It is expected that the machine
will function for 5 years and at the end of the fifth year it will have a scrap value of
Rs. 10,000. The estimated profits after tax but before charging depreciation of the machine is
expected to generate during its life time are:

5x4=20

Year Amount )
1 25000
2 40000
3 32000
4 20000
5 13000
Total 130000
Depreciation on the machine is to be charged on straight line method. Calculate the
Accounting Rate of Return (ARR).
(T 2hi 8y)

(¢) What are the uses of cost of capital?

e JICHF IR Fh 2
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(f) What are the objectives of Financial Management?

Gifde o Sl e

3. Answer any two of the following questions: 10x2=20
@ A 75 elas Tea e ¢
(a) A firm engaged in large scale consumer retailing. From the foHoWing information, you are
required to forecast their working capital requirement:
Projected Annual Sales =¥ 65,00,000
Percentage of Net Profit on cost sales = 25%
Average credit period allowed to Debtors = 10 weeks
Average Credit Period allowed by creditors = 4 weeks
Average stock carrying (in terms of sales requirement) = 8 weeks
Add 10% to computed figures to allow for contingencies.

(el o way)

(b) A choice is to be made between two competing projects which require an equal investment of
¥ 60000 and are expected to generate the following net cash flows at the end of each year.

Years Project IR) ‘Project IR) P.V Factors at 10%

1 25000 15000 0.909

2 20000 18000 © 0.826

3 15000 22000 0.751

4 14000 15000 0.683
74000 70000

"The cost of capital of the company is 10%. Evaluate the project proposal under P;oﬁtabi]ity

Index (PI) method.
| (XA 2 wgey)
- (©) (i) State the role played by a chief financial officer of a large company.

B FIPIR I 2 el SRR gt Sred 2 |
(i) What are the assumptions of Walter’s model?

5+5
STV NG Segaiafer e
(@ (@) State the major features of lease financing,
forer pizamPR -3 3 ARl Rewm
(ii) Discuss the advantages and disadvanta, i
ges of lease financing. 4+(3+3)
forer izmmiR-am 7R« PR Wit w3t

\

el
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B.Com. 6th Semester (General) Examination, 2024 (CBCS)
Subject : Fundamentals of Financial Management
Course : DSE-4 (6.4.2 CG)
(Old Syllabus)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

AP 2T ety aiva 91 s

1. Answer any ten of the following questions:
NGBR3 oy 75 ATHR BB WG ¢ 2x10=20

(a) Define financial management.
ifef PRI TR S |

(b) What do you mean by discounting technigue?
bR CreIeT IEACS N QAT ?

(c) What is future value? '
SRy FuR?

(d) What do you mean by preference shares?
COIPICRST (AT 208 ¥ RIcatte

(e) What is financial leverage?
i fereivaer i e

(f) What is meant by capital structure?
T ST IS Y (IR 2

(8) Mention any four sources of short-term capital
ORIG T U O St
(h) What is payback period?
AR-crreTEr 2

(i) Write two disadvantages of NPV method.
NPV &3 4o SPjfRat ceeat )

(j) What do you mean by Profitability Index?
TP AT 5 TS F (A 2

(k) What is working capital?
5 e 2
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() What do you mean by operating cycle?
FRffAdfeaa RS Fe7ee i QAT
(m) What is fixed working capital?
53 5efS 1t FIF e 2

_(n) What is interim dividend?

L TSI Pl e

(o) Whatis EPS?.. - - O
EPS @7 L

2. Answer any four of the following questions: 5x%4=20
N 3 I 517 TR TEA G 3

(a) State the objectives of financial management.

i et Srrpafer fige e

(b) (i) Whatis cost of equity capital?
330 O JA e oo

(ii) Mr. Z is required to pay four equal annual payments of ¥ 4,000 each in his deposit

account that pays 10 per cent per year. Find out the future value of annuity at the end of

4th year. 243
(Rceh e =) |

(¢) (i) Whatis cost of preference share capital?
COIPITRST (IR SET4Ca T Y2

(i) X Ltd. issues 15% Redeemable Preference Shares of Rs. 200 each at 10% discount,

redeemable after 10 years at 10% premium. What will be the cost of pref. share capital

&p)? o 2+

(RN 24t w87y)

(d) Discuss the advantages of financing by debenture.
WIITT FMGTN LT R et et |

(e) Discuss the advantages of payback period method.
RERGE L LR T T SR o T ——

(f) State the importance of a stable dividend policy in a firm.
T 2 e sTe 1T ey Ry IR

|
|

1
i
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3. Answer any two of the following questions: 10x2=20

G I 5 eiraa Tea e 8

(a) Discuss the role of a finance manager of a firm.

B TR S JIZATFR S ST T |

(b) Briefly discuss the various sources of long-term capital.

rfCsrantvt v RIST SeomTg ATHT AT I |

(c) A factory produces 12,000 units during the year and sells them for Z 50 per unit. Cost
structure of a product is as follows:

Raw materials 60%

Labour 15%
Overhead 10%
Total cost 85%
) Profit 15%
100%
Additional information:

(i) The production and related activities occur evenly throughout the year.
(ii) Raw materials equivalent to 1 month’s supply is stored in godown.
(iii) The production process takes 1 month,

(iv) Finished good equal to 3 month’s production are carried in stock.
(v) Debtors enjoy 2 months’ credit.
(vi) Creditors allow 3 months’ credit.

(vii) Time lag in payment of wages and overheads is % month,
(viii) Cash and bank balance is to be maintained at 5% of the total working capital.

Draw a forecast of working capital requirement of the factory.
(XA 2py i)
(d) A company is considering a new project of which investmeht data are as follows:
Capital outlay Rs. 2,00,000 .
Depreciation 10% each year at straight line method.

Expected annual return before charging depreciation are 1,00,000, ¥ 1,00,000, ¥ 80,000,
T 80,000 and ¥ 40,000 from year 1 to 5 respectively.

You are required to apply the following evaluation techniques in respect of the project and to
comment on the result:

(i) Pay-back period
(ii) Accounting rate of return

(ZANG 24l w3y)
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